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0vv!vv$vvFG vvJGQS vv!vv9vv?vvL1vv7G vv2vvEvv<vv1vv7G)OvvLGFvv1vv!vv1vv7bvv.G#vv"QFvv1vvPvv1vv7
hqvvlvv:hQGAG vv(vv,vvYvv7G vvcvv!vv$vv1vv7hG vv9vvrvvJeG vv9vvrvv(vv2kvv1vv,vv.,#vv)C+vv$vv,vv.:
G v$v.GQOG v2vSvL0v7G v9v2Gbv9v$vJJCOv.Ov.

k
bv!v/#v.>v.JG v,v?vLI,QDhS

G$#vv.Gd#vv)G vvHvv.QL,hG vvPvv1vv.Ovv7G vvcvv!vv$vv1vv7,hGQ8vv2vv.Wbvv$vv!vv1vv7G vv9vv\vv.Q
G vvSvv.#vv"1vvVvv.QIh;vv1vvrvv71vv. vv9vv\vv.QG vvcvv!vv$vv2G vvKjCOi vv9vv\vv.Q#vv?vv./J

G E1.IG$GLi@

h0vvcvv.O1vvLhRG vv?vv.#vvcvv.JG)OvvLGFvv1vv!vv1vv7kvv2G vv2vvEvv=G vvcvv!vv$vv2E vv/
8vvHvvVvv1vvW#vv1vvMG&vv1vv7#vvPvv9vvrvv!vv7h#vvSvv?vvcvv7 vv!vv2vvEvv.KG vvcvv!vv$vv1vv7,tvv$vv.Cf
G vEvVv.dbv!v/#v(vEv71vEv<v1v7/0vPv9vfvLbE>vLGAGJ[v.0v!v7h#vcvrvJI#vd

G ?,.JG $.&E7@

tv$v.C&v,v./8vLtvMkvrv]bv!v/bv$v!v1v7G v9vJQ0vQ,1v"8v$v(vFqvPv\v.
k

hGkvLG
k

#v)8vLtv1vM+v.bv!v/G v2vEv.KG vcv!v$v1v7$Ov2v.HbvJI,h+v28vLUvJ

G vv$vv1vvMG&vv1vv.JG vvYvvHvv$vv7 vv!vv2vvEvv.KG vvcvv!vv$vv1vv7 vv$vvcvvLkvv9vv,vv.1vv. vvcvv.GFvvJG vvYvvHvv$vv7
G 928f\2CXc.a#.C&lr9-@
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h vvK vvv0vvL#vv2G vv2vvEvv= vvJQGOvv7#vvEvv.hQG)Ovv9vvLG8vv1vv?vv1vv7G vvcvv!vv$vv1vv7
G v2vEv<v1v7G)OvLGFv1v!v1v7,#v)Gv0d8v9v2vdB v1v.Jh[vLbG v9v$v.0v",G vLOv$v2
hG$+!2, ,.b2LG $E.hQG 9. 17:

1vvvvE1vvvvLGRbvvvv(vvvv.UvvvvLEOvvvv9vvvvLG8vvvv1vvvv?vvvv1vvvv78vvvv$vvvv.0vvvv"G vvvv2vvvvEvvvv=G vvvvcvvvv!vvvv$vvvv2kvvvv2
zEOLGF1"y@

2vvvvOQGOvv78vv#;vv1vvLG vv9vv$vv.0vv"1vvSvvrvv1vv-G vvLOvv$vv2hG$+vv!vv2bvv!vv/#vvPvv.Q

G 9rJeG 2E<2@

3vvvvE1vvvLGRG)&vvv?vvv.RGJG vvv9vvv28vvvEvvvrvvvrvvv:&vvv9vvv1vvv?vvv7 vvv,vvvKgG)Ovvv9vvvLG8vvv1vvv?vvv1vvv7
G 9$.0!17@

h0v,vJaG v2vEv= v9vEvrv1vs>v$v!v7#v)G$+vJGahG$evLGV,#v)
C+$,.:

CvvvvG vv9vvcvvLabvv!vv/[vvLb8vv$vv.0vv"G vv2vvEvv=G vvcvv!vv$vv2kvv2zEOvvLGFvv1vv"y,
h1vvv1vvv.fC;vvvLgkvvv28vvvcvvvJO#vvv?vvv./8vvv-,hG vvvJhQG vvvKj0vvvrvvv.e1vvv-kvvv2
#?.dG 9($17,hG 9cLab!/G$>,MIG r.F$7b!1-@

HvvvvG vvuvvSvvmbvv)EOvv,vv.e1vvcvvZG vv?vv.#vvcvv.JG)OvvLGFvv1vv!vv1vv7kvv28vv.kvv1vvL
1vvcvvZG)#vvuvv.&vv.JG vvYvvLhQ0vv7$bvvYvv.AG vv,vv1vv,vv.JG vv9vvJQ0vvPvv1vv7kvv1vv$vv.
0HWG 2E=G c!$2@

Jvvvv8vvPvv!vv1vv]G vvYvv.Abvv!vv/Dvv?vv%Obvv%h8vv$vv.0vv"#vv&OvvPvv.Jh#vvLGtvvM

G vv2vvEvv=G vvcvv!vv$vv2kvv2zEOvvLGFvv1vv"y,h#vvcvvLkvv7G/8vv?vv.+vv.JG vv2vvEvv<vv1vv7
G$t<LOb$.

k
k1,.@
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hOv1vcv9v$vJG v2vEv=bv!v/G v$v(v,v@G v.Uvlv2;$&v-0v(v.Ov3[v2v1vcv9v-,
Dvv1vv=0vv$vvuvv)G/Ovv9vvlvv.OI#vv(vv- vv.UvvmG vv9vv\vv.QG vvKj#vvLJ1vv-#vvPvv1vvLI
8vv$vv.0vv"G vv2vvEvv=G vvcvv!vv$vv2kvv2zEOvvLGFvv1vv"y,#vv)Dvv1vv=&vvSvv#8vv-h8vv\vv.Qg,
hOhQg19Er1s#\. 3G 9($17,h#?./8,.@
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